On the oscillation of certain odd order nonlinear neutral difference equations

S. Kaleeswari, B. Selvaraj

Abstract. Our main aim of this paper is to investigate some oscillation criteria for solutions of certain odd order nonlinear neutral difference equation. We present some sufficient conditions that guarantee for all solutions of odd order neutral difference equation are oscillatory. Some examples are given to illustrate the main results.

M.S.C. 2010: 39A10, 39A21.

Key words: Higher order neutral difference equations; nonlinearity; oscillation.

1 Introduction

In this paper, we are concerned with the following higher order neutral difference equation of the form

(1.1)
$$\Delta^{m} [x(n) + p(n)x(\tau(n))] + q(n)f(x(\sigma(n))) = 0, n \in \mathbb{N} = \{0, 1, \dots\},\$$

where m is odd and $m \ge 1$. Δ is the forward difference operator defined by

$$\Delta x(n) = x(n+1) - x(n).$$

Throughout this paper, we assume the following conditions to hold:

- (H1) $\{q(n)\}$ is a real-valued sequence with $q(n) \ge 0, n \in \mathbb{N}$ and $\{q(n)\}$ is not identically zero.
- (H2) $\{p(n)\}\$ is a real-valued sequence with $0 \le p(n) < 1, n \in \mathbb{N}$.
- (H3) $\{\tau(n)\}\$ and $\{\sigma(n)\}\$ are non-decreasing sequences such that $\tau(n) < n$ with $\lim_{n \to +\infty} \tau(n) = +\infty$ and $\sigma(n) < n$ with $\lim_{n \to +\infty} \sigma(n) = +\infty$.
- (H4) $f : \mathbb{R} \to \mathbb{R}$ is a non-decreasing continuous function such that xf(x) > 0 for $x \neq 0$ and

(1.2)
$$-f(-xy) \ge f(xy) \ge f(x) f(y).$$

Applied Sciences, Vol.18, 2016, pp. 50-59.

[©] Balkan Society of Geometers, Geometry Balkan Press 2016.

In recent years, the oscillation behavior of neutral difference equations has been studied vigorously, for example, see (1-16) and the references cited therein. This is because of the fact that neutral difference equations find various applications in some variational problems, in natural science and technology.

In [5], Agarwal and Grace considered the higher order difference equation

(1.3)
$$\Delta \left(\Delta^{m-1} x(n) \right)^{\alpha} + q(n) x^{\alpha} \left(n - \tau \right) = 0$$

and obtained some sufficient conditions for the oscillation of all solutions of (1.3).

Yasar Bolat et. al. [8] have taken even order non-linear neutral difference equation

(1.4)
$$\Delta^{m} [y(k) + p(k) y(\tau(k))] + q(k) y(\sigma(k)) = 0,$$

and established some criteria for oscillation of bounded solutions only.

Therefore, it is to be noted that, to the best of our knowledge, there is no paper for higher order nonlinear neutral difference equations which ensures that all the solutions are oscillatory when m is odd. Following this notion, in this paper, we provide sufficient conditions which ensure that all solutions of (1.1) are oscillatory.

2 Preliminaries

Definition 2.1. The factorial expression is defined as $(r)^{(s)} = \prod_{i=0}^{s-1} (r-i)$

with $(r)^{(0)} = 1$, for all $r \in \mathbb{R} = (-\infty, \infty)$ and s, a non-negative integer.

Definition 2.2. Let N_0 be a fixed non-negative integer. By a solution of equation (1.1), we mean a nontrivial real sequence $\{x(n)\}$ which is defined for all $n \ge \min_{i\ge 0} \{\tau(i), \sigma(i)\}$ and satisfies equation (1.1) for $n \ge N_0$.

Definition 2.3. A solution $\{x(n)\}$ of equation (1.1) is said to be oscillatory if for every $n_1 \ge N_0$, there exists $n \ge n_1$ such that $x_n x_{n+1} \le 0$. Otherwise it is called non-oscillatory.

Definition 2.4. A difference equation is said to be oscillatory if all of its solutions are oscillatory. Otherwise, it is non-oscillatory.

To obtain the main results, we shall use the following notations. For all large $n \ge n_0 > 0$, let

$$R_{j}(n) = f\left(\frac{(\sigma(n) - m + j)^{(j-i)}}{j!}\right) \sum_{r=n}^{\infty} \frac{(r - n + m - j - 3)^{(m-j-3)}}{(m-j-3)!}$$
$$\left(\sum_{j=r}^{\infty} q(j)\right) f\left(1 - p\left(\sigma\left(r\right)\right)\right), \ j \in \{1, 2, ..., m-3\};$$
$$R_{m-1}(n) = q(n)f\left(1 - p\left(\sigma(n)\right)\right) f\left(\frac{(\sigma(n) - 1)^{(m-2)}}{(m-1)!}\right);$$

$$R_0(n) = q(n)f(1 - p(\sigma(n)))f\left(\sum_{r=\sigma(n)}^{\eta(n)} \frac{(r - \sigma(n) + m - 2)^{(m-2)}}{(m-2)!}\right)$$

for some non-decreasing function $\eta(n)$ with $\sigma(n) < \eta(n) \le n$, $n \ge n_0$.

We need the following lemma to obtain our results.

Lemma 2.1. (see [1]) Let x(n) be defined for $n \ge n_0 \in \mathbb{N}$ and x(n) > 0 with $\Delta^n x(n)$ be of constant sign for $n \ge n_0$ and not identically zero. Then there exists an integer $l, 0 \le l \le m$ with (m+l) odd for $\Delta^m x(n) \le 0$ and (m+l) even for $\Delta^m x(n) \ge 0$ such that

- (i) $l \le m-1$ implies $(-1)^{l+k} \Delta^k x(n) > 0$ for all $n \ge n_0, l \le k \le m-1$;
- (ii) $l \ge 1$ implies $\Delta^k x(n) > 0$ for all large $n \ge n_0, 1 \le k \le l-1$.

3 Main results

In this section, we discuss the following theorems.

Theorem 3.1. Assume that the conditions (H1)-(H4) hold and

(3.1)
$$\sum_{n=n_0}^{\infty} \left(\sum_{j=n}^{\infty} q(j) \right) \left(\sigma(n) \right)^{(m-2)} = \infty.$$

Let m be odd. If all the second order equations

(3.2)
$$\Delta^2 y(n) + R_j(n) f(y(\sigma(n))) = 0, \ j \in \{2, 4, ..., m-1\}$$

for $n \ge n_0$ are oscillatory and if there exists a non-decreasing sequence $\{\eta(n)\}$ with $\sigma(n) < \eta(n) \le n, n \ge n_0$ such that the first order difference equation

(3.3)
$$\Delta v(n) + R_0(n)f(v(\eta(n))) = 0$$

is oscillatory, then every solution of equation (1.1) oscillates.

Proof. Let $\{x(n)\}$ be a non-oscillatory solution of (1.1). Without loss of generality, assume that $x(n) > 0, x(\tau(n)) > 0, x(\sigma(n)) > 0$, for all $n \ge n_0 \ge 0$. Let

(3.4)
$$z(n) = x(n) + p(n)x(\tau(n)) \ge x(n) > 0.$$

Then (1.1) becomes

(3.5)
$$\Delta^m z(n) = -q(n)f(x(\sigma(n))) \le 0, \text{ for } n \ge n_1 \ge n_0.$$

From Lemma 2.1, it is evident that

(3.6)
$$\Delta^{m-1}z(n) > 0, \text{ for } n \ge n_1.$$

Also from (3.5), we have $\Delta^m z(n) \leq 0$. So, z(n) satisfies Lemma 2.1, for some $l \in \{1, 2, ..., m-3\}$ and (l+m) odd. Also by Lemma 2.1, $\Delta z(n) > 0$. Since z(n) is increasing, we have

$$(1 - p(n)) z(n) \le z(n) - p(n)z(\tau(n))$$

= $x(n) - p(n)p(\tau(n)) x(\tau(\tau(n)))$
 $\le x(n)$, for $n \ge n_1$.

That is,

(3.7)
$$(1 - p(n)) z(n) \le x(n), \text{ for } n \ge n_1.$$

Now the following two cases are considered: $l \in \{1, 2, ..., m-3\}$ and l = 0.

Case(i). Let $l \in \{1, 2, ..., m - 3\}$. From the discrete Taylor's formula, we have (3.8)

$$\begin{split} -\Delta^{l+1} z(n) &= \sum_{j=l+1}^{m-2} \frac{\left(s-n+j-l-2\right)^{(j-l-1)}}{(j-l-1)!} \left(-1\right)^{j-l} \Delta^{j} z\left(s\right) \\ &+ \left(-1\right)^{m-l-3} \sum_{r=n}^{s-1} \frac{\left(r-n+m-l-3\right)^{(m-l-3)}}{(m-l-3)!} \Delta^{m-1} z\left(r\right), \end{split}$$

for $s \ge n \ge n_1$. Using Lemma 2.1 in (3.8), we obtain

(3.9)
$$-\Delta^{l+1}z(n) \ge \sum_{r=n}^{\infty} \frac{(r-n+m-l-3)^{(m-l-3)}}{(m-l-3)!} \Delta^{m-1}z(r) \, .$$

Summing up the equation (1.1) from r to u-1 and letting $u \to \infty$, we have

(3.10)
$$\Delta^{m-1}z(r) \ge \sum_{j=r}^{\infty} q(j)f(x(\sigma(r))), \text{ for } n \ge n_2 \ge n_1.$$

Substituting (3.10) in (3.9), we have

(3.11)
$$-\Delta^{l+1}z(n) \ge \sum_{r=n}^{\infty} \frac{(r-n+m-l-3)^{(m-l-3)}}{(m-l-3)!} \left(\sum_{j=r}^{\infty} q(j)\right) f(x(\sigma(r))).$$

Using (3.7) and (1.2) in (3.11), we get (3.12)

$$\begin{split} -\Delta^{l+1} z(n) \geq &\sum_{r=n}^{\infty} \frac{(r-n+m-l-3)^{(m-l-3)}}{(m-l-3)!} \\ & \left(\sum_{j=r}^{\infty} q(j)\right) f\left(1-p\left(\sigma\left(r\right)\right)\right) f\left(z\left(\sigma\left(r\right)\right)\right). \end{split}$$

From (3.10), we can see that

$$(n)^{(m-l-1)} \Delta^{m-1} z(n) \ge (n)^{(m-l-1)} \left(\sum_{j=n}^{\infty} q(j) \right) x(\sigma(n))$$
$$\ge (n)^{(m-l-1)} \left(\sum_{j=n}^{\infty} q(j) \right) (\sigma(n))^{(l-1)}$$
$$\ge \sum_{j=n}^{\infty} q(j) (\sigma(n))^{(m-l-2)}.$$

Hence from (3.1), we get

(3.13)
$$\sum_{k=0}^{\infty} (s)^{(m-l-1)} \Delta^{m-1} z(s) = \infty.$$

Consider the equality

$$\sum_{j=l-1}^{m-2} (-1)^{(j+l+1)} \frac{(n-m+j+1)^{(j-l+1)}}{(j-l+1)!} \Delta^j z(n)$$

= $\sum_{j=l-1}^{m-2} (-1)^{(j+l+1)} \frac{(n_2)^{(j-l+1)}}{(j-l+1)!} \Delta^j z(n_1+m-j-2)$
+ $(-1)^{m+l-1} \sum_{s=n_2}^{m-2} (s)^{(m-l-1)} \Delta^{m-1} z(s).$

with $l \in \{1, 2, ..., m - 1\}$ and (l + m) is odd. Now from the above, as in ([9],[16]), there exists an integer $n \ge n_3 \ge n_2$ such that

(3.14)
$$\Delta^{l-1}z(n) \ge (n-m+l+1)\,\Delta^l z(n)$$

and

(3.15)
$$z(n) \ge \frac{(n-m+l)^{(l-1)}}{l!} \Delta^{l-1} z(n).$$

Then we can find an integer $N \ge n_3$ such that

(3.16)
$$z\left(\sigma(n)\right) \ge \frac{\left(\sigma(n) - m + l\right)^{(l-1)}}{l!} \Delta^{l-1} z\left(\sigma(n)\right), \text{ for } n \ge N$$

Using (3.16) in (3.12), we have

$$\begin{split} -\Delta^{l+1} z(n) &\geq \sum_{r=n}^{\infty} \frac{(r-n+m-l-3)^{(m-l-3)}}{(m-l-3)!} \left(\sum_{j=r}^{\infty} q(j)\right) f\left(1-p\left(\sigma\left(r\right)\right)\right) \\ & \quad f\left(\frac{(\sigma(n)-m+l)^{(l-1)}}{l!}\right) f\left(\Delta^{l-1} z\left(\sigma(n)\right)\right). \end{split}$$

That is,

$$-\Delta^{l+1} z(n) \ge R_l(n) f\left(\Delta^{l-1} z\left(\sigma(n)\right)\right).$$

Let $y(n) = \Delta^{l-1} z(n)$. Then y(n) > 0 for $n \ge N$ and above inequality becomes,

$$\Delta^2 y(n) + R_l(n) f(y(\sigma(n))) \le 0, \text{ for } n \ge N.$$

Thus the last inequality has a positive solution. By a well-known result in [10, 12], we can see that the equation

$$\Delta^2 y(n) + R_l(n) f(y(\sigma(n))) = 0, \text{ for } n \ge N$$

also has a positive solution, which contradicts our assumption.

Case(ii). Let l = 0.

From discrete Taylor's formula, we have

$$\begin{split} z(n) &= \sum_{j=0}^{m-2} \frac{\left(s-n+j-1\right)^{(j)}}{j!} \left(-1\right)^j \Delta^j z\left(s\right) \\ &+ \sum_{r=n}^{s-1} \frac{\left(r-n+m-2\right)^{(m-2)}}{(m-2)!} \Delta^{m-1} z\left(r\right), \end{split}$$

for $s \ge n$. Considering Lemma 2.1 with l = 0 and using this in the above equation, we get

$$z(n) \ge \sum_{r=n}^{s-1} \frac{(r-n+m-2)^{(m-2)}}{(m-2)!} \Delta^{m-1} z(r) \,,$$

for $n \ge n_1 \ge n_0$. Then we can find an integer $n_2 \ge n_1$ and a non-decreasing function $\eta(n)$ with $\sigma(n) < \eta(n) \le n$ such that

(3.17)
$$z(\sigma(n)) \ge \sum_{r=\sigma(n)}^{\eta(n)} \frac{(r-\sigma(n)+m-2)^{(m-2)}}{(m-2)!} \Delta^{m-1} z(\eta(n)),$$

for $n \ge n_2 \ge n_1$. From (1.1), (1.2), (3.7) and (3.17), we have

$$\begin{aligned} -\Delta \left(\Delta^{m-1} z(n) \right) &= q(n) f\left(x\left(\sigma(n) \right) \right) \\ &\geq q(n) f\left(1 - p\left(\sigma(n) \right) \right) f\left(z\left(\sigma(n) \right) \right) \\ &\geq q(n) f\left(1 - p\left(\sigma(n) \right) \right) f\left(\sum_{r=\sigma(n)}^{\eta(n)} \frac{\left(r - \sigma(n) + m - 2 \right)^{(m-2)}}{(m-2)!} \right) \\ &\times f\left(\Delta^{m-1} z\left(\eta(n) \right) \right) \\ &= R_0(n) f\left(\Delta^{m-1} z\left(\eta(n) \right) \right). \end{aligned}$$

Let $v(n) = \Delta^{m-1} z(\eta(n))$. Then v(n) > 0, for $n \ge n_2$ and the above inequality becomes,

$$\Delta v(n) + R_0(n)f\left(v\left(\sigma(n)\right)\right) \le 0,$$

for which a positive solution exists. By a well-known result in [10, 12], we have equation (3.3) also has a positive solution, which contradicts our assumption. This completes the proof.

Example 3.1. Consider the third order difference equation

(E1)
$$\Delta^3 \left[x(n) + \frac{1}{2}x(n-1) \right] + 4x(n-2) = 0.$$

Here $0 \leq p(n) = \frac{1}{2} < 1,$ q(n) = 4n, $\tau(n) = n-1 < n,$ $\sigma(n) = n-2 < n$ and $f(u) = \frac{u}{n}.$ Also

$$\sum_{n=n_0}^{\infty} \left(\sum_{j=n}^{\infty} q(j) \right) (\sigma(n))^{(m-2)} = \sum_{n=n_0}^{\infty} \left(\sum_{j=n}^{\infty} 4j \right) (n-2) = \infty.$$

We can easily see that all conditions of Theorem 3.1 are satisfied and hence all the solutions of equation (E1) are oscillatory. One of such solutions is $x(n) = (-1)^n$.

Next we consider the following theorem.

Theorem 3.2. Assume that the conditions (H1)-(H4) and (3.1) hold. Let m be odd. If (3.18)

$$f\left(\frac{(\sigma(n)-m+j)^{(j-i)}}{j!}\right)\sum_{r=n_0}^{\infty}\frac{(r-n+m-j-2)^{(m-j-2)}}{(m-j-2)!}$$
$$\left(\sum_{j=r}^{\infty}q(j)\right)f\left(1-p\left(\sigma\left(r\right)\right)\right)=\infty,$$

for $j \in \{2, 4, ..., m-1\}$ and if there exists a non-decreasing sequence $\{\eta(n)\}$ with $\sigma(n) < \eta(n) \le n, n \ge n_0$ such that the equation (3.3) is oscillatory, then every solution of equation (1.1) oscillates.

Proof. Assume that $\{x(n)\}$ be a non-oscillatory solution of (1.1). Without loss of generality, assume that $x(n) > 0, x(\tau(n)) > 0, x(\sigma(n)) > 0$, for all $n \ge n_0 \ge 0$. Let

(3.19)
$$z(n) = x(n) + p(n)x(\tau(n)) \ge x(n) > 0.$$

Proceeding as in the proof of Theorem 3.1, we get the following two cases: $l \in \{1, 2, ..., m-3\}$ and l = 0.

Case(i). Let $l \in \{1, 2, ..., m - 3\}$.

From the discrete Taylor's formula, we have (3.20)

$$\begin{split} \Delta^{l} z(n) &= \sum_{j=l}^{m-2} \frac{(s-n+j-l-2)^{(j-l)}}{(j-l)!} \left(-1\right)^{j-l} \Delta^{j} z\left(s\right) \\ &+ \left(-1\right)^{m-l-1} \sum_{r=n}^{s-1} \frac{(r-n+m-l-2)^{(m-l-2)}}{(m-l-2)!} \Delta^{m-1} z\left(r\right), \end{split}$$

for $s \ge n$. Using (1.2), (3.7), (3.10) and Lemma 2.1 in (3.20), we obtain (3.21)

$$\Delta^{l} z(n) \ge \sum_{r=n}^{\infty} \frac{(r-n+m-l-2)^{(m-l-2)}}{(m-l-2)!} \left(\sum_{j=r}^{\infty} q(j) \right)$$
$$f(1-p(\sigma(n))) f(z(\sigma(n))).$$

From (3.15), there exists a $n_2 \ge n_1$ and a positive constant c > 0 such that

(3.22)
$$z(\sigma(n)) \ge \frac{(\sigma(n) - m + l)^{(l-1)}}{l!} \Delta^{l-1} z(\sigma(n)), \text{ for } n \ge n_2.$$

and

(3.23)
$$\Delta^{l-1}z(\sigma(n)) \ge c, \text{ for } n \ge n_2.$$

Using (3.22) and (3.23) in (3.21), we get

$$\infty > \Delta^{l} z(n_{2}) \ge \sum_{r=n_{2}}^{\infty} \frac{(r-n+m-l-2)^{(m-l-2)}}{(m-l-2)!} \left(\sum_{j=r}^{\infty} q(j) \right) f(1-p(\sigma(n))) f(c) f\left(\frac{(\sigma(n)-m+l)^{(l-1)}}{l!}\right),$$

which contradicts (3.18).

Case(ii). Let l = 0.

The proof for this case is similar to the proof of Case(ii) in Theorem 3.1 and hence omitted. This completes the proof. $\hfill \Box$

Example 3.2. Consider the first order difference equation

(E2)
$$\Delta\left[x(n) + \frac{3}{4}x(n-1)\right] + \frac{1}{2}x(n-2) = 0.$$

Here $0 \le p(n) = \frac{3}{4} < 1$, $q(n) = \frac{1}{2}$, $\tau(n) = n - 1 < n$, $\sigma(n) = n - 2 < n$ and f(u) = u. We can find that all hypotheses of Theorem 3.2 are fulfilled. Also, equation(E2) has an oscillatory solution given by $x(n) = \frac{(-1)^n}{2}$.

4 Conclusions

In this paper, we have proposed the comparison method for identifying oscillatory solutions of odd order neutral difference equations. This method compares the first and second order equations which are very simple. Moreover, the above examples reveal the efficiency of our method.

Acknowledgments. The authors are grateful to the reviewers and to the technical program committees for the helpful comments and suggestions.

References

- R. P. Agarwal, Difference Equations and Inequalities, Theory, Methods and Applications, Marcel Dekker, 2nd edition, New York 2000.
- [2] R. P. Agarwal, M. Bohner, S. R. Grace, D. O'Regan, *Discrete Oscillation Theory*, Hindawi, New York 2005.
- [3] R. P. Agarwal, Said R. Grace, Donal O'Regan, Oscillation Theory for Difference and Functional Differential Equations, Kluwer Academic Publishers, Dordrecht, 2000.
- [4] R. P. Agarwal, P. J. Y. Wong, Advanced Topics in Difference Equations, Kluwer Academic Publishers, Dordrecht, 1997.
- [5] R. P. Agarwal, Said R. Grace, Donal O'Regan, On the oscillation of higher order difference equations, Soochow J. of Math. 31, 2(2005), 245-259.
- [6] R. P. Agarwal, E. Thandapani, P. J. Y. wong, Oscillations of higher order neutral difference equations, Appl. Math. Lett. 10, 1(1997), 71-78.
- [7] Y. Bolat, O. Akin, Oscillatory behaviour of a higher order nonlinear neutral type functional difference equation with oscillating coefficients, Appl. Math. Lett. 17, (2004), 1073-1078.
- [8] Y. Bolat, O. Akin, H. Yildirim, Oscillation criteria for a certain even order neutral difference equation with an oscillating coefficient, Appl. Math. Lett. 22, 2009, 590-594.
- [9] G. Grzegorczyk, J. Werbowski, Oscillation of higher order linear difference equations, Comput. and Math. with Appl. 42, 2001, 711-717.
- [10] I. Gyori, G. Ladas, Oscillation Theory of Delay Differential Equations with Applications, Clarendon Press, Oxford, 1991.
- [11] W. G. Kelley, A. C. Peterson, Difference Equations an Introduction with Applications, Academic Press, Boston, 1991.
- [12] G. Ladas, Ch. G. Philos, Y. G. Sficas, Sharp conditions for the oscillation of delay difference equations, J. Appl. Math. Simul. 2, (1989), 101-111.
- [13] B. Selvaraj, P. Mohankumar and V. Ananthan, Oscillatory and Non-oscillatory Behavior of Neutral Delay Difference Equations, Int. J. of Nonlin. Sci. 13, 4(2012), 472-474.
- [14] B. Selvaraj and G. Gomathi Jawahar, New Oscillation Criteria for First Order Neutral Delay Difference Equations, Bull. of Pure and Appl. Sci, (Math. and Stat.), 30E, 1(2011), 103-108.

58

- [15] E. Thandapani and B. Selvaraj, Existence and Asymptotic Behavior of Non Oscillatory Solutions of Certain Nonlinear Difference Equations, Far East J. of Math. Sci.(FJMS), 14, 1(2004), 9-25.
- [16] A. Wyrwinska, Oscillation criteria of a higher order linear difference equation, Bull. Inst. Math. Acad. Sinica, 22, (1994), 259-266.

 $Authors'\ address:$

Subramanian Kaleeswari *and* Bothiah Selvaraj Department of Science and Humanities, Nehru Institute of Engineering and Technology, Coimbatore - 641105, Tamilnadu, India. E-mail: kaleesdesika@gmail.com & professorselvaraj@gmail.com